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3. Assuming the diodes to be ideal, find the values of I and V in the circuits of (a) and (b). (20%)
(a) +10V (b) +10V




4.

o

Find the values of vo , io and the power gain P /P, in the following Fig. (20%)

SkQ

Please explain (a) Body Effect (b) Channel Length Modulation (c) Subthreshold Conduction.
(20%)
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(a) ¥4 = (Machine Language) (5%)

(b) BrEfziE (High-LeveI Programming Language) (5%)

() «’rﬂ' i* % 233 2 (Object-Oriented Programming Language) (5%)
(d) 4 » 3¢k s (Embedded System) (5%)

17. 38 0T B4EF 2 B ® 4 (Truth Table) - (20%)
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A AND C

18. 3% 7| T "B TCP/IP %% #3] (TCP/IPModel) 2 & & &4 > & Bt & & 1 &5 i o
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